Additional Practice Problems for Thermochemistry

(1) Calcutate the heat of reaction: 4HNO:; (1) — 4NO; () + 2H,0 (1) + O, (®
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T 2 (Ha(g) +Na (g) + 30, (8) — 2HNO; (f))  (AH =-348.2 k/mol ) — 2
2. (N2 (8) + 202 (g) — 2NO, () (AH=66.4kJ/mol) 2
—\ (ZH:0 (1) =2 (g) + 0, (g) 3 ( AH=571.6 kJ/mol} —}
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(2) Calculate the heat of reaction using the Bond Energy. ., ' -
HI@+0:(8) = 2HO )+ 2L (9) + L g & /po ! Lvte beoter = Cornn mef
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(e) What is AH for the forward, uncatalyzed reaction?
100 T
(f) What is AH for the forward, catalyzed reaction?
4 ey T
(8) What is AH for the reverse, uncatalyzed reaction?
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(h) What is AH for the reverse, catalyzed reaction?
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(i) Is the forward reaction endothermic or exothermic?
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S () Is the reverse reaction endothermic or exothermic?
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Progress of the reaction Fmther s
(k) What is Ea for the forward, uncatalyzed reaction?
(2) Label the catalyzed pathway and the uncatalyzed pathway. 4 OO0 D
(1) What is Ea for the forward, catalyzed reaction?
(b) What is the name of the highest energy point in a reaction? Y lgoleT
activored com plex - ion?
What quantity is eiven the s bol AH? ¥ of (m) What is E, for the reverse, uncatalyzed reaction?
() quantity 1s given the symbo ? GHH’WJPj)\(\@a 0 1100 T
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(d) What quantity is given the symbol E,? FEDGFan (n) What is Ea for the reverse, catalyzed reaction?
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